CT3- AUTONUM  \* Arabic   Can two vectors of unequal magnitude sum to zero? That is, if 
[image: image27.wmf]A

 

C

 

B

 

,  can  
[image: image2.wmf]AB0

+=

r

r

?
A) Yes.  
B) No.
Answer: No.  Only a vector and its negative can sum to zero. 
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CT3- AUTONUM  \* Arabic   Can three vectors of equal magnitude sum to zero?  That can 
[image: image4.wmf]ABC0

++=

rr

r

, if 
[image: image5.wmf]ABC

==

rr

r

?
A) Yes.  
B) No.

Answer: Yes. If the vectors form an equilateral triangle, they can sum to zero.
CT3- AUTONUM  \* Arabic   Vectors 
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D) 
Impossible to tell from the information given.
Answer: 
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  . Use the Pythagorean theorem.  The three vectors form a right triangle.
CT3- AUTONUM  \* Arabic   Three vectors 
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Answer: None of these!
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CT3- AUTONUM  \* Arabic  The solid line has length A and makes an angle ( with the negative y-axis.  What is the length of the dotted line?
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A)  A cos(
B) A sin(
C) A tan(
D) sin(/A



E) cos(/A

Answer: A cos(
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CT3- AUTONUM  \* Arabic  What is the correct formula for Ay,  the y-component of the vector A?

A)  +A cos(
B)  +A sin(
C)  –A cos(
D)  –A sin(
E)  None of these.

Answer: –A cos(   (Get the minus sign by looking at the diagram.)

 CT3- AUTONUM  \* Arabic    The vectors 
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 are shown.  The vector sum of these three vectors is 
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What is the value of Sx, the x-component of the vector S ?


A) +2

B) – 4

C) – 2

D) +3

E) None of these

What is Sy​ , the y-component of S?  (Same choices)
Answers: Sx = +3 – 3 – 3 = - 3   (None of these).  Sy = -1 -3 +0 = -4 

CT3- AUTONUM  \* Arabic    The position vector of a particle moving with constant velocity is shown below at two different times, an earlier time t1 and a later time t2.  Which arrow shows the direction of the velocity vector?
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Answer: B)  
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CT3- AUTONUM  \* Arabic  The velocity vector of a particle moving with constant acceleration is shown below at two different times, an earlier time t1 and a later time t2.  What is the direction of the acceleration vector?
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Answer: C) straight down.  
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    Delta-v points straight down.

CT3- AUTONUM  \* Arabic   Which diagram below correctly depicts the equation 
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Answer: A)
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(E) None of these.





(E) None of these!
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